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#1E | EA 3144 A 8H~4H 26 H (15 A4Y) 10.46 |4 A 27 H | HmHHE9°<0.68 | MHET<0.77 | HHHE3<0.80 0~0.1755 A
ol | A THESHTH~5H 24 0 (14 A%Y) 924 |5 H27TH | BHHET <096 | HitE7<0.74 | HRHET<0.73 0~0.1632 A
W3E | A tES A 2T H~6 21 H (20 HSY) 13.90 |6 A 24 B | HHHE9°<0.80 | MHE3<0.80 | MHiH3<0.66 0~0.2474 A
W4l | AF0 tE 6 H 24 H~7 A 19 H (19 H4Y) 13.18 |7 H 22 A | Ml $<0.78 | B9 <0.74 | HiHE9°<0.76 0~0.2367 A
W5 | A0 tES A28 H~9 A 27T H (21 HSY) 14.50 |9 A 30 H | MHE9°<0.80 | MHE9°<0.78 | MHi#3<0.69 0~0.2584 Fiii
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#11E | A 2427 25 H~3A2H (5 H%) 3.60 |3H 9H |mMmHET<0.80 | MmHET<0.71 | BT <0.74 0~0.0624 i
At 126.30 0~2.2458 A
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